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a1 1| 25 ug 3 Mg
O 7 W3 (233€ 7F)
(2h2l © mm)
712t 23 = '23.2¢ '23.39

A g 23 (H[2(%)| €44 23 |H[E(%) "HA 23 | HIE(%)
d = 110.4 68.2 61.8 31.2 8.7 271.7 50.8 24.3 47.8
(L2 97.7 56.4 57.7 25.7 2.4 9.3 46.6 13.6 29.2
ot H 97.5 47.3 48.5 24.8 1.5 6.2 47.3 9.3 19.6
=HEsd 110.6 79.3 71.6 32.2 13.8 42.8 51.8 35.0 67.6
L 131.7 91.0 69.1 37.5 25.4 67.7 58.3 50.5 86.8
B st 2 1473 | 132.8 90.2 42.4 27.4 64.7 65.8 66.3 | 100.8
= & 117.4 56.7 48.3 34.4 6.1 17.6 51.7 21.3 41.2
SETES| 103.4 39.3 38.0 27.1 1.1 4.0 46.9 7.1 15.2
EdZ 126.9 61.4 48.4 38.9 8.9 22.9 52.9 25.7 48.5
s 134.2 61.2 45.6 40.3 7.4 18.4 53.3 27.1 51.0
Mz Z 1423 | 107.8 75.7 442 23.1 52.2 61.1 43.0 70.4
=R 2, 146.7 85.5 58.3 45.6 18.0 39.5 61.8 33.0 53.4
Bt & 151.2 | 140.8 93.2 44.4 31.2 70.2 72.8 41.9 57.6

s gd oie| Z=H[E0] Tt

& se A

o 71743 37/0Y (2349 ~"23.6%)
T Zaa ay|e
'23.4¥ | ©HA(70.3~99.3mm)1} H| == H4A(M11.6~126C)ECct ==
2358 | BA(793~1255m) 3} vl L e | BA(17.0~17.6T)2CH &8
2368 | HH(101.6~1740m)2} H| % T (21.1~2170)3 8] 2314 &2




O A (2339 7F)
2 Zkm?)
T U4 g 38 =
Ao\ | o UE o | 2a | U i 25 | 1
A 59178 92.5(1,135.4]1,224.6| 107.9 89.3 1,784.1| 889
stzt 12,653.9 112.2/1,131.2|1,220.0| 107.9 84.2 3238| 1056
<52 | 1,369.1 802 - - - 82.4 4233| 858
22 1,2106 887, - - - - 434.4| 1024
Goh | 684.2 472 42| 46| 1083 88.1 6026  77.0
[eH]2 otdd, [H=Z]e ditd-Elat, [32]2 Hud, [¥erd MEZ S B A AME 2
- EA Y
SR
7El =Ry (uH ot
S el | 9 -
(EL.m) | (EL.m) I1;—%‘} ol A arr | g
z A 12,923 44
T 1980 | 1748 | 2,900 43 0 0
o LB.F 145.0 | 1313 | 2750 43 0 0
- 180.0 | 1739 87 46 1 0
o = 1617 | 141.8 | 1,248 42 0 0
el st 164.7 | 1411 595 38 0 0
o = 3649 | 3489 28 49 0 0
LoLg 3 164.0 | 1473 181 44 2 0
R 205.1 186.6 49 40 0 0
S| e 1986 | 1804 54 51 1 0
< | 2 2385 | 214.3 22 36 0 0
Bt M 1790 | 1463 790 41 0 0
ez 46.0 385 309 39 0 0
2 ot 2102 | 1920 74 53 1 0
2 |8 ¢ 2655 | 2450 815 46 16 0
2o 3 80.0 69.0 1,490 54 0 0
M| MR 197.7 | 1767 466 43 0 0
o F e 1105 | 889 707 43 0 0
ST P < 438 37.7 50 57 0 0
e L2 ¥ 755 61.1 117 37 0 0
¥ 2 82.8 65.4 191 44 , 0 0
T 1) dEERY TRloM A= EFLANX M3zl s ot dTFREE 50%)
2) dFg2 Al Moz Alg"s 5




P
- 859
x4at H4g arge
9 Al A7 (44 2km) (%) o (m/%)
T = My | gk T2 uee
(km) | (ELm) | (EL.m) 5 A | o | (M) | e | A
Heer | ®Maw | O = = | as
= A 444.9 173.9 39 42 608
ot s 125.0 672.0 668.8 13.1 6.5 49 59 148 - 0.0
z e 29.4 112.0 108.7 8.7 55 64 62 518 - 0.0
=Rl 235.0 156.8 146.5 103.2 38.2 37 35 555 - 0.0
OFA| 6.7 439 39.7 18.5 12.0 65 59 1,501 - 0.0
Z 3.7 40.0 39.3 2.6 2.0 77 56 494 - 0.0
Lt iy 301.3 145.0 137.2 160.3 62.1 39 42 664 - 0.0
; o= 57.5 120.0 100.7 36.2 3.8 11 26 817 - 0.0
; ALSA 67.0 60.0 46.5 30.3 5.7 19 29 828 - 0.0
= CH et 77.0 48.5 48.0 13.1 6.0 46 39 633 - 0.0
et 1.2 30.0 27.3 2.0 1.6 81 83 886 - 0.0
o= 1.7 48.0 448 5.2 2.7 53 49 824 - 0.0
- 12.7 93.0 77.7 10.0 3.7 37 63 1,209 - 0.0
= = 49.0 64.0 57.8 31.3 20.9 67 58 762 - 0.0
A =& 19.9 109.7 101.6 10.3 3.1 30 54 760 - 0.0
ML MM A ESTRANK MeSto it ZTTHFEE 50%)
ReEL:
N 4at M4 g Abgt e
471 | @ (s bm) (%) Zeet | (m/E)
- Akl | 9 mm
(EL.m) (EL.m) = R - REE E R
SR | o =N
ez | mez | BN g | | T
Z A 1,550.0 1,225.8 79.1 67.8 3189 - -
2 A 175.0 1713 9171 636.1 69.4 50.8 236.1 23.3 -
= o 102.0 102.5 139.3 131.6 94.5 934 14.2 249 -
S of ¢ 70.5 71.0 85.7 778 90.8 91.0 40.1 746 -
209 50.0 50.5 162.7 152.0 934 92.7 6.7 84.5 -
T A 134.0 1334 9.7 6.4 65.8 61.0 7.0 1.5 -
¥ o 230.0 216.2 94.0 941 9.0 142.7 -
MERZ | EMZT 126.9 126.7 56 45 80.3 73.6 5.7 - -




o AF FFAE (2348 ~2369)

(2H2l : m¥/s)

2s | A 234 2359 236¢
oA 2o | HIE(%) | old 2ol | HIE(%) | od 28 | HIE(%)
H (4 gkm) 2,277 2,061 90.5 2,793 2,338 83.7 3,613 3,051 84.4
=M 134.0 132.9 99.2 166.6 145.0 87.1 222.3 161.2 72.5
sta2t ST H 0.9 0.7 715 1.2 0.7 58.7 1.1 0.7 65.2
- E = 532.9 321.7 60.4 763.6 431.1 56.5 836.4 488.7 58.4
PSRN - 1.1 - - 24 - - 2.1 -

Ch=AE 75.0 45.7 61.0 92.5 49.8 53.8 113.5 69.9 61.6

Lo 2T H 16.1 14.8 92.2 16.7 15.6 934 17.8 14.0 78.6
ah X e - - - - - - - - -
X 4= X| - 1.1 - - 1.1 - - 1.1 -
Ch=2cH 59.6 529 88.8 68.2 542 79.5 90.5 71.0 78.4
23t S5 - - - - - - - - -
2k e - - - - - - - - -
X = X| - 90.8 - - 79.4 - - 124.8 -
ChEMcH 23.1 17.7 76.6 358 227 63.5 54.5 454 834
of AbZ} ST H 3.7 48 130.9 3.6 3.7 103.4 4.1 3.8 93.6
Hh 7~ cH 49 0.8 16.3 6.6 1.1 16.7 8.8 7.9 89.8
X = X| - 84.5 - - 159.6 - - 148.5 -
« [eHd]2 ot (S22 dird-Efakd, (B2 Mud, [FA2 orE, SAIZ, MRIZ & eIz A AldE =g
- TpE A
(2 m¥s)
2 ‘23.4¥ 2354 236
A of 4 AZE |HE(%)]| o HZE |HE(%)] o4 HE | HE(%)
| (84 2k me) 941.00 | 692.79 74 1,287.70| 930.74 72 1,464.70|1,034.73 71
Akt 51.43 | 50.00 97 67.32 50.00 74 75.31 50.00 66
LA s F 11250 | 88.48 79 150.80 | 107.00 71 180.63 | 104.90 58
g2 A 2.62 2.10 80 422 4.20 100 4.44 4.50 101
ot = 21.84 19.20 88 3237 | 27.40 85 46.03 | 43.00 93
2l st 16.44 8.10 49 20.98 8.50 4 26.12 9.20 35
Mo 0.50 0.30 60 0.63 0.40 63 0.62 0.60 97
= 9 0.89 0.30 34 1.05 0.40 38 1.08 0.50 46
sz ARSI Rl 1.39 0.60 43 1.61 0.80 50 1.50 0.90 60
& 0.39 0.10 26 0.37 0.20 54 0.39 0.20 52
g 16.86 8.60 51 19.41 9.50 49 21.57 11.70 54
= 32.25 10.80 33 3472 | 20.80 60 3596 | 37.10 103
R 1.97 1.80 91 2.31 1.90 82 2.93 3.60 123
P g ¢ 19.33 16.60 86 21.39 16.60 78 21.84 16.60 76
- oy & 46.10 34.30 74 65.75 51.10 78 86.96 65.10 75
wxor | ® [ 1505 | 1310 | 87 | 2065 | 1380 | 67 | 2095 | 1380 | 66
T oM 16.59 6.30 38 2894 | 27.60 95 28.74 | 27.80 97
£ ot 0.96 0.90 93 1.16 1.60 138 1.16 1.30 112
7 Ef 2 2.78 3.30 119 3.40 3.30 97 3.70 3.70 100
& = 3.16 2.40 76 3.70 2.40 65 517 470 91
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(ck2 : m¥/s)
2y ‘23.4¥ ‘23.5¥ 23.62
T ofd | A= | we | od | A= | ve | od | A" | e
Hl (4 Tkme) 55.600 | 51.853 93 61.700 | 49.738 81 65.200 | 53.214 82
- 2 = 0.772 | 0.384 50 0.635 0.420 66 0.849 0.470 55
== 0.386 | 0.298 77 0.485 0.310 64 0.502 0.310 62
q A 6.636 5.721 86 6.982 5.760 83 7.716 7.260 94
4 = 0.077 | 0.029 38 0.037 0.050 134 0.039 0.050 130
T = 4630 | 3.722 80 5.152 3.360 65 5.594 3.710 66
Al CH = AbeA 1.582 | 0.003 0 1.904 1.850 97 2.045 1.850 90
oy et 3279 | 4.668 142 3.211 2.600 81 3.125 2.600 83
o4 = 0.231 0.148 64 0.261 0.170 65 0.270 0.190 70
= A 0.309 | 0.232 75 0.299 0.240 80 0.347 0.250 72
MRZL = 0 3.241 4519 139 3.696 3.530 96 4.090 3.470 85
o M2 4 0.309 | 0.281 91 0.373 0.280 75 0.579 0.370 64
-
(ck2 : m¥/s)
2l ‘23.4¥ 23.5¥ ‘2368
T ofd” | A& |HlE@ | od | AHE  HE% | od | HE | HE%)
A 1,394.0 835.9 60.0 | 2,062.9 | 1,157.6 56.1 | 2,190.8 | 1,287.2 58.8
=S| 26.9 24.4 90.7 419 434 103.6 424 434 102.4
= 38.3 24.8 64.8 57.3 442 771 60.4 49.0 81.1
st2t of et 92.8 72.8 78.4 131.1 924 70.5 1454 102.7 70.6
PSR 117.8 74.2 63.0 163.5 955 58.4 181.6 1115 61.4
| A 79 1.5 19.0 8.7 0.8 9.2 11.1 1.2 10.8
et 249.2 124.0 49.8 361.1 154.8 429 395.5 180.9 457
MEZE | EMY 49 0.8 16.3 6.6 1.1 16.7 8.8 79 89.8
01~20d LM B & WEIHUMURIHF2UREY AR
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2l 2348 ©35% 236%
= ofd | AE |ug%)| od | A= (w8 od | A= |u (%)

ot - 0.000 - - 0.000 - - 0.000 -

St 5 - 0.001 - - 0.001 - - 0.001 -

& ALZF E‘E‘ - OOOO - - OOOO - - OOOO -

se= 2% - 0.163 - - 0.379 - - 0.278 -

ME 0.204 0.885 0.565

o= - 0.149 - - 0.512 - - 0.341 -

x| A= (2ket) - 0.075 - - 0.482 - - 0.291 -

=4 - 0.117 - - 0.179 - - 0.15 -

Aldbgd - 0.02 - - 0.108 - - 0.067 -

= - 0.036 - - 0.092 - - 0.066 -

= - 0.051 - - 0.168 - - 0.108 -

= - 0.075 - - 0.183 - - 0.336 -

=9 - 0.327 - - 0.554 - - 1.457 -

AbEt - 0.013 - - 0.336 - - 0.317 -

ZHEE - 0.098 - - 0.403 - - 0.482 -

= - 0.18 - - 0.444 - - 0.56 -

23 - 0.187 - - 1.546 - - 0.956 -

H| & - 0.285 - - 0.836 - - 0.849 -

gts - 0.082 - - 0.326 - - 0.332 -

2| - 0.699 - - 1.842 - - 2.692 -

oy = - 0.255 - - 0.947 - - 1.277 -

=2t k=1 - 0.001 - - 1.201 - - 0.269 -

WS - 0.97 - - 2.687 - - 2.595 -

o= - 0.076 - - 0.289 - - 0.455 -

27| - 0.04 - - 0.138 - - 0.164 -

SHA| - 0.161 - - 0.398 - - 0.385 -

2o - 0.074 - - 0.919 - - 0.803 -

QEH - 0.066 - - 0.547 - - 0.437 -

gat - 0.08 - - 0.351 - - 0.226 -

== - 0.064 - - 0.271 - - 0.181 -

ot - 0.103 - - 0.467 - - 0.431 -

SHA - 0.171 - - 0.593 - - 0.786 -

HEAE - 0.013 - - 0.343 - - 0.298 -

T - 1.615 - - 7.259 - - 2.681 -

FES| - 0.116 - - 0.48 - - 0.487 -

HE - 0.173 - - 0.538 - - 0.568 -

=4 - 0.149 - - 0.784 - - 0.471 -

HE - 0.35 - - 0.992 - - 1.01 -

S5 - 65.1 - - 15.575 - - 62.216 -

ZUSHEF - 0.072 - - 0.356 - - 0.145 -

=g - 0.075 - - 0.312 - - 0.136 -

AlCH - 2.906 - - 9.644 - - 6.019 -

A M of ehi =) - 0.337 - - 0912 - - 0.634 -

=4 - 14.11 - - 18.958 - - 28.836 -

MuUS - 0.223 - - 1.385 - - 1.166 -

= - 0.587 - - 3.352 - - 2.076 -

HHE - 0.109 - - 0.467 - - 0.219 -

=AY =A™ - 0.286 - - 1.293 - - 0.589 -

ME - 4157 - - 5.549 - - 8.129 -

o S X| - 0.000 - - 0.830 - - 2.228 -

a4 - 0.025 - - 0.407 - - 1.051 -

=4 - 0.000 - - 2.260 - - 6.067 -

oA MY L= - 0.000 - - 1.125 - - 3.020 -

£fok - 0.041 - - 0575 | - - 1475 | -

o= - 0015| - - 0078 | - - 0227 | -




2 2348 2353 236

of A A & o A =l of A A =
s - 0.047 - 0.217 - 0.505
o - 0.004 - 0.060 - 0.157
o= - 0.011 - 0.071 - 0.172
e - 0.008 - 0.124 - 0.321
2% - 0.003 - 0.087 - 0.230
A - 0.000 - 2.663 - 7.148
o - 0.015 - 0.188 - 0.480
Ex| - 0.048 - 0.670 - 1.719
25 - 55.140 - 55.440 - 65.440
GLts - 12.330 - 42.490 - 26.340
Yt - 5.900 - 12.980 - 3.780
=2= - 0.007 - 0.254 - 0.671
T - 0.068 - 0.618 - 0.359
=3 - 0.173 - 0.448 - 0.305
= - 0.359 - 0.372 - 0.590
=T - 0.020 - 0.175 - 0.202
M7z & - 0.010 - 0.053 - 0.126
2= - 0.120 - 1.133 - 0.657
= - 0.193 - 1.076 - 0.656
e - 0.165 - 0.174 - 0.450
2= - 0.878 - 4.404 - 2.746
=3t - 0.843 - 2.219 - 1.278
Sat - 0.689 - 3.983 - 2.435
T0| - 0.667 - 3.371 - 2.1
S Ry =7 - 1.059 - 6.318 - 2.967
43 - 1.103 - 7.132 - 3.419
o ot - 0.077 - 0.723 - 0.42
T3 - 0.145 - 1.341 - 0.779
S =4 - 0.434 - 2.657 - 1.117
&4 - 0.025 - 0.321 - 2.219
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. 712t 234 = 23.2¢ '23.3¢
B aogma ol | 2s |HIBCH| ofd | 2sh [HIBCH| old | 28 | HIBC
3 (28, detzdm) 988 807 817 893| 667 746 1057 ~ 992| 939
ctobF (=&, motim) | 1708 217.8| 1274 1601 2003 1251 1952| 206.0| 1055
2 F (M2, "y m) 9.1 69| 758 9.3 66| 714 9.8 54| 548
jj 0 F(do|d, e5m) 40 32| 813 39 3.0 76 40 17) 421
XM (zxz, 22n) 49 66| 1324 38 63| 1626 55 35| 639
T (72 bl S0 @) 329 181 551 309| 150/ 485 369 121| 329
LEl(ohM A, FEMm) 3.3 29| 906 33 28| 859 33 20| 602
o e AED) 521 333| 639 585 327 558 731 318 436
FolEs, gdD) 582| 448| 770 498 440 885 595 443 744
L | B, s2ema) 684 536| 783 524 526| 1004| 466 524 1124
é TYEER 18D 658/ 603 916 895 549/ 613] 793 610 770
& gHEes Mzn) 830 - - 9.1 - - 1069| 687 642
gtok= s, Audal) 1249 950 76.1| 1346 895 665 1442| 935 649
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